
Wood Platform Bed (BSW006-K)



1/12



2/12

J

J

C

F2
G

F1

E

F2

K
L

F1

A

M1
I

H

X

X

C1

C5

M

K

B

C6

C4

C3

C2



C2C1

CBA

C3

C4 C5 C6

3/12

1pc

1pc 1pc

1pc 1pc

1pc

E

2pcs

F1

2pcs

F2

1pc

M

1pc

G

1pc

2pcs16pcs1pc

1pc

M1



T VU

1pc

N

M6

P

M8x35 mm

8pcs 12pcs

RQ

M8x30 mmφ8x18x1.5 mm

52pcs+1pc

M8x55 mm

10pcs

S W X

2pcs

M8x14 mm

22pcs+1pc

100x2 mm

2pcs

I

2pcs

L

4pcs

4pcs

K

J

M6x25 mm

8pcs

M6x20 mm

32pcs+1pc

M6x35 mm

10pcs

4/12

H

2pcs



D1

5/12

Z

M6

40pcs+1pc 4pcs

D2

4pcs



6/12

D1
4pcs

1

2

D2

4pcs

D1

N

1pcM6

C2

C2

C3

D1 D2

N

D2



V

N
M6x35 mm 10pcs

M6 1pc

7/12

U

Z

N

M6x20 mm 32pcs

M6 32pcs

M6 1pc

3

4

N

N

V

U

Z

C2

C3

C5

C4

C1

C6

C

C6



R

Q

N

X2

8/12

R

Q

N

M8x30 mm 12pcs

φ8x18x1.5 mm 12pcs

M6 1pc

F1
J F2

J

6

5

T

Z

N

M6x25 mm 8pcs

M6 8pcs

M6 1pc

N

TZ
C2

C

C6

C1

C6

C4



 7

8

9/12

F1

F2

X

 

Same as Step 7

W

Q

N

M8x14 mm 7pcs

φ8x18x1.5 mm 7pcs

M6 1pc

100x2 mm

X
1pc

Q

L

W

X

L

W

F1

F2

Take out parts F1 and F2, and lock the iron frame foot L in 
the middle according to the figure. Note that there are

2 holes located on the inner side of the board. The n lock
the bed hanging pieces X on the front and rear of 

the board, with  3 holes on each side.

W

Q

N

M8x14 mm 7pcs

φ8x18x1.5 mm 7pcs

M6 1pc

100x2 mm

X
1pc

N

Q

N

Q

W

N

Q

N

W



10/12

Noted the direction of the arrow on the middle cross beam is pointing to the front.

X2

I

H

K

I

P

Q

N

M8x35 mm 4pcs

φ8x18x1.5 mm 4pcs

M6 1pc

P
Q

N

9

10

F2

Q

N

F1

F2

F1

w

S

Q

N

M8x55 mm 8pcs

φ8x18x1.5 mm 12pcs

M6 1pc

W

M8x14 mm 4pcs

Q

N

S

M

M1

Q

S

Screw in the screw S to about 

50%, then hang the bracket on

 and finally tighten the screw S
.



11/12

Q

P

G

12

P

Q

N

M8x35 mm 4pcs

φ8x18x1.5 mm  4pcs

M6 1pc

N

11
W

N

I

H
KI

H
K

W

Q

N

M8x14 mm 4pcs

φ8x18x1.5 mm  4pcs

M6 1pc

Q



12/12

Installation Complete

13

14

S

Q

N

M8x55 mm 2pcs

φ8x18x1.5 mm  2pcs

M6 1pc

K S

N
Q


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

